EARAROBREBRT —5 XN—ZXBISH—F 20226658198 (R) 2@ 1I548

I8 2/ S—F V0 FE1—85E 4= USXR2E ‘(fﬁ} 5 ‘I%EH?’JFE‘?] — | & 14000 fEE
[xE<] 1%&:2,700,000 3 . 237%&:1,080,000 3 . 337&:675,000H . 43 :405,000 F 5 3&:270,000 M
RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
— el . 91— _ BREE— (k)
S—_F) o2 Be 1.(3_3).3 1-2-1-1 | 41.5 2 :159) ﬁmiEErﬂJu
RiEvI7—Y— B:Fd—E—LFa— BRI IHORS
+U UL 4 2 %ﬁiﬁﬂi (11313/25) 5-4-3-3 |41.3| — 5 (458) ggﬂgi (W)
R4 I RT—LEY B:O0-ILS5 TR NIVY A 2RT—T Ik att
= Sy P~ LLIlEER £ 133, -1-1- . - WiEExE (&
SARYV—=> "2 5& uﬁ; 2l 1 g E%%( ?
R:E—=F/NbO—L B:NEITILY—V pelaie]
_ s 2 | HEIE 1:36.1 4-4-4-4 | 43.7| - 4 473 | BEF— (1B
ANAIWT =19 ~ o 54.0 (544) (o) |KE=B=
RIVIRI—ZZRI— B:FT4YN—-ZVR e ]
» =~ )4 4 2 | BIHEB#& 1:36.6 1-3-5-5 | 44.0| - 3 443 | BER— (1)
FvITUF 54.0 2172 (-) | AEEFE
RAYNUFIAY B:V1TILYvRIL A=t
EVHF—F IR 4 2 Eg%a%;‘n 1:(357).6 6-6-6-6 |44.2 | — 6 (43(; fgﬁﬁ% (111kz5)
R:IA—WRPII— B:RF/T4—Y 5 A
@ 11— —BRIEfL
10—F+— (2,4,6).,5,1.,3
20— — 2,4,6,(1,5),3
Fol=zr= (2,4),1,5,6,3
40—7F— (2,4 ,1,5,6,3
0 ILRE
BB 4 380 JA R 1-4 340 B E 1-4 1,970 3ER 1-2-4 790M
B B 4 2004 2-4 140M o= 4-1 2,860 3Es 4-1-2 7,150M
1 500 1-2 330

ABIC OV TRUTEREERRODDZE. THRIIZEL.




